Geometry

Assignment
Find the value of each trigonometric ratio.

1) sin C

50 40

3) tan 4

40 41

36 45

7) cos X

Y 9 7
17

40| /41

Name 1ID: 1

Date Period

2) cos C

30 16

6) cos X

Y 7 Xx
17

24 25

8) cos Z

24 30



9) sin X

Z

40
A )
X 32

Y

11) sin X

z
Am
X 12 Y

13) tan 4

4 28 B
: 21
35
C

15) cos Z

X
15&
Y 8 Z

17) tan 4

10) cos Z
X
L 50
14
Y 48
12) tan 4
A
20 16
¢ 12 B
14) tan C
C 27 B
45 36
A
16) tan C
A4__8 B
17 15
c
18) tan Z
Y 35
12’J
37
X

2-



19) tan Z
X
25 i
15
z 20 Y
21) tan 4
c
20 izg
B 21 A
23) sinZ
Y 24 7
T
30
X

25) tan Z

Y 7 7
T 7

24 25

50 X
22) tan Z
X 35 z
28 21
Y
24) tan A4
A
5Oj 40
C 3 B
26) sin Z
VA

35

5

X 21 Y
28) sin Z
z
13
J5
X 12 Y



29) tan 4

Ny

32 40

A

31) cos 4

)]
&
o

33) tan X

36 15

35) tan C

4 30 c

24 18

37) cos X

25

2

39 Z

30) sin Z

32) tan X
Y 15 X
20 ;25
Z
34) tan X
X
Y 4 4
36) cos Z
Y
z 30 X

38) cos X

-



39) sinZ
X
L 37
12
Y 35

Find the missing side. Round to the nearest tenth.

41)
73°

43)

jx

./ 16

45)

V4
37
12L
Y 35

42) 15
" L‘ 17
44)
> 69%‘ 11
46)

48)

50)

52)



54)

53)

52°

13

15

56)

1

15°

66°
(1 — A\

55)

10

58)

57)

17°

13

13

60)

59)

16°

30°
17

18
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19

69)

25°

20

x
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71)

75)

79)

15



Geometry

Assignment
Find the value of each trigonometric ratio.
. 3
1) sin C —
5
C
0/ a0
4 3 B
9
3) tan 4 —
40
A
40| \#1
1)
B 9 C
3
5) tan 4 —
4
A
36 45
B 271 C
40
7) cos X  —
41
Yy 9
—Z
401 /41

Name 1ID: 1

Date Period

1
2) cos C ]
17

30 16

7
6) cos X —

Y 7 Xx
17

24 25

8) cos Z

24 30



3
9) sin X g
z
AM
X 32 Y
4
11) sin X —
5
Z
Am
X 12 Y
3
13) tan 4 4
4 28 B
: 21
35
c
8
15) cos Z —
17
X
15 i”
Y 8 <Z
17) tan 4 —
C
41/ |40
L[]
4 9 B

24

10) cos Z —
25
X
L 50
14
Y 48 z
12) tan 4 3
4
A
20 16
C 12 B
4
14) tan C —
3
C 27 B
45 36
A
16) tan C 8
15
A4__8 B
17 15
c
12
18) tan Z —
35
Y 35 P
12’J
37
X
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3
19) tan Z —
4
X
25 i
15
z 20 Y
20
21) tan 4 —
21
C
20&
B 21 4
3
23) sinZ —
5
Y 24 7
18 :
30
X
24
25) tan Z —
7
Y 7 7
24 25
X
4
27) sin X 40
41
Y 40 7
Q'J 41
X

20) sin Z —
25
Y
%’]4
Z 50 X
4
22) tan Z —
3
X 35 z
28 21
Y
24) tan A4 3
4
A
50i 40
C 3 B
26) sin Z J
5
z
A%
X2 Y
12
28) sin Z —
13
V4
3 J
5
X 12 Y




29) tan 4 3 30) sinZ =
4 41

'
N

32 40

N
N
N
o

B 24 C
L[]
X 9 Y
5 4
31) cos 4 — 32) tan X —
13 3
y 13 c Y 15 y
M
: 20 5
Z
3 4
33) tan X — 34) tan X —
12 3
Y X
36 15 3 5
X 39 z
Y 4 z
4 4
35) tan C — 36) cos Z —
3 5
4 30 c Y
24 18
24 18
M z 30 X
3
37) cos X — 38) cos X —
3 41
x_ 15 v A

25

N

o
N
g
I
o
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39) sinZ
X
L 37
12
Y 35

Find the missing side. Round to the nearest tenth.

41)
73°

45.8
43)

jx

65.7

46)

48)

x

17.9

50)

52)

19

14.6

35
37



54)

53)

52°

13

15

10.2

16.8

1

15°

56)

63.4

66°
(1 — A\

55)

10

22.5

58)

57)

17°

13

44.5

13

12.6

60)

59)

16°

30°
17

18

5.0

9.8

62)

61)

X

9.4

63)

14

17

M 68\?‘

18.3

25.6



13.0

69)

25°
20

8.5
71)

x

25°

22.1
73)

RN
N

20.2

75)
12

12.9

77) 14

A

26.4

79)

15

10.8

68)

x

74)

15
19.6

76) 15

-

26.0
78)




